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Time: 3 I{ours

DATABASE MAN.A,GEMENT SYSTEMS
(Common to CSE, IT)

Answer any five questions
All questions carry equal marks

Max. Marks:75
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l.a) Define data trodel. Explain the entitr'-rclationship rnoclel u ith a neat tliagrarn.b) Hrorv can rr'e tratlslate an ER Diasranr into 5QL statellcpts to create tables? Discr-rss.
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2.a) Descrrbe the set operations ol reiational algehra. inclLrcling Lrnion (LJ). set dillcrc.nce (-).
and cross prodLtct (X). Iror each" u hat can \oLl sav about the carclirralitv of lheir inpLrt arrci
oLltput tables?

b) Cotnpare and contrast the TLrple Relational ('alculLrs and Dornain relatiorralcalcLrlus.

f8r7l

3.a) Brief-lr explain the cotnplex integritr constraints in S{lL'lriggers ancl acti',,e cjatabases.b) \\rhr is a table rrhose prirnan kcr gs11si51t ttf'a sirrglc attribr.rte. autclrraticallr, in 2NIl
nhen it is in INF'I Explain in clerarl. 
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4.a) Disclrssthe Recoven,rvithConcurrentJ'ransactions.
b) Elaborate the Timestanrp Basecl prorocols.

5. ( ()11)Parc ltttJ eottlrast tlte llr'h-R:r:ctl lrrdc.rirr! 0nri lr.cc-ha>erl lntierirr::.

6.a) [ixplain the dil-f'erences bclrieen ph,r sical anc] logical clata indepepcjelce.
b) Detjne a trigger. 'l\'hat are the d iiterences bet*,een rorv_level and

triggers?

7. Give an e.rampJe tl-ra1 illLrstrates hox a collection of relations in BCINF
redundancr eVen though eaclr relation" br itsell. is tiee liont reclrrpclalc,r,

8.a) \\ ilat is I'rallsactiott'l [.ist ancl erpiain thc propcrties ol-'flirrsae ti9p.
tr) Horr does a B + trce indcr hancllc the searclt. inscrt ancl clclerc'l DiscLrss.
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